Answer on Question #86087 - Math - Trigonometry

Question

If 6 ®cosd + 2 sin?® =5, show that tan?® - 14

Solution
6cos@ + 2sinp = 5;
6cos@ + 2 — 2cos’p — 5= 0;
6cosp — 2cos?p — 3 = 0;
2cos?@p — 6cosp +3 =0
Ifx = cosp and — 1 < cosgp < 1that 2x*> —6x +3 = 0;
2x2 —6x+3=0;

6+V36—4x*2x%3

x= 2% 2 ‘

x=15—0.5V3;
x = 1.5 + 0.5V3 — this solution is not included in the range — 1 < cosp < 1

Then cosgp = 1.5 — 0.5V/3;

2 __1 .
tan“p +1 = cosiq)
_ 1

cos?g " (15-0.5v3)°

tan?p = — 1 and itis not equal to %

P.S. The task probably contains a typo ®cos® since that equation can be solved with a help
of the graphical method and numerical approximations.
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